MOT0-C

ELECTRIC
ADJUSTABLE TABLE

BBEfFH R LGS

7

WWW.1STPLAYER.COM

PARTS LIST / &} 4iE

SCREW ACCESSORIES / 22 Fic 4

Before you begin to assemble your desk, sort your screws by number and use the
chart below to confirm you have all the required accessories.

EHIREFEZE, IFRESWBREITR, ARERATRMIACRERE L FRIE M,

Screws need to be checked and tightened again after whole desks finished installa-
tion.

B ERERRETNE, FENERRHBRITR,

A B C D E F G

a

© T by ¢

©® o9 o 0~ ==

Isolation pads
M8%9 x6| M6%12 x8 | | feet x2| | ST4*15 x28| | M5*8 x2| | M8*35 x8 x4
H/ |
x1 x1

05|

X1 x1 x1

x2 x2 x1

|

x1

INSTALLATION STEPS | RIEZ 1

STEP1/SB—
A C

©® o I

Isolation pads

M8*9 x6 | feet x4

STEP2 /B

M6*12 x8 | M5*8 x1

STEP3 /FR=

STEP 4 /| B

D H

v

ST4*15 x28 x1

STEP5/53¥£
N BB\

Press and hold ™\ and \~ for 3s until "---" is on the screen, release the button,The
desktop automatically moves up and down to find the highest and lowest height.
When this process stops, the reset operation is complete.

VIR ZREFEREREHZE NV H#3M, EEIRE LHIR"--", MR ERES8 LT
Bo), HERSMNRENSE, SX M IIEELLER, EARIEMTRT .

INSTRUCTIONS OF CONTROLLER OPERATING / 15 #2312 (Ei5 A

The display flashes when the "/\'" button is pressed for 3s, and when the button is
released, it automatically reaches the highest point on the table, and can be
stopped midway by any press.

ST "N'RHE3ME, BERERAN, MFRIE, SESAEKENRS S, FEALL
EPRETRFL,

The display flashes when the "\/" button is pressed for 3s, and when the button is
released, it automatically reaches the lowest point on the table, and can be
stopped midway by any press.

ST V"R E, ERESWNE, IMHREE, S BhA B RENRES, AR
EPEREERMEL.,




